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Note: Unit is a segment size. TCP actually is 
based on bytes and increments by 1 MSS 
(maximum segment size). To increase, one 
may ack every byte rather than a full sized 
segment. But this attack has been fixed. 

Increasing TCP's Initial Window. doi:10.17487/RFC3390. RFC 3390.

Corbet, Jonathan. "Increasing the TCP initial congestion window". LWN. 
Retrieved 10 October 2012.
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https://tools.ietf.org/html/rfc3390
https://en.wikipedia.org/wiki/Digital_object_identifier
https://doi.org/10.17487%2FRFC3390
https://lwn.net/Articles/427104/
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Answer to why: because some packets arrived at the destination to trigger the 
duplicate acks. So the network is not congested enough to lose all packets in a 
window. 
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1. efficiency line
2. fairness line
AIMD
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http://delivery.acm.org/10.1145/1410000/1400105/p64-

ha.pdf?ip=152.3.43.28&id=1400105&acc=ACTIVE%20SERVICE&key=777711

6298C9657D%2E18C4EEC63BFE39A6%2E4D4702B0C3E38B35%2E4D470

2B0C3E38B35&__acm__=1522697537_aad5e7bd094a30540605e9f0185614
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https://tools.ietf.org/id/draft-ietf-tcpm-cubic-04.html
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https://tools.ietf.org/id/draft-ietf-tcpm-cubic-04.html
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